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0\; &QP X 1. chate the morpheme boundaries by drawing a vertical line at each one:
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2. Identify one morpheme that has more than one allomorph in the data in #1. Say what
phonological environment each allomorph of that morpheme occurs in. %L-
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3. Write a phonological rule (in rule notatmn‘a to ac count for an alternation that you O served
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4. Fill in the derivation for this i imaginary language. The shaded cells each require you to

write something. If nothing changes 1n a cell, write “—".
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lo see see me fo call call me
/ zilo / / zilo / / darka / / darka / Lexical entries of roots
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